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Part - A: Language Sciences
(Mark the booklet code 'B' in the OMR sheet)

. Linguistics is :

A. The study of literature of a particular language

B. The discipline studied by people who speak more than one language
C. The opportunity to learn more languages

D. The scientific study of language

. isconsidered to be “the father of generative linguistics™.
A. William Jones
B. Noam Chomsky
C. George Abraham Grierson

- D. Francis Whyte Ellis

. Which of the following exerts the greatest degree of force in the ascending order  ?
A. must, should, need
B. should, must, need
C. need, should, must

~ D. should need, must

. Ol Chiki is the official scriptof .
A. Maithili

B. Tulu

C. Savara/Sora

D. Santali

. Brahui spoken in Pakistan belongsto .
A. Tibeto-Burman (Sino-Tibetan)
B. Indo-Aryan (Indo-European)

C. Dravidian

D. Urdu language

. How many vowel sound(s) in English does the word, ‘cabbage’ contain?
2

o 0w
L% B e BT

. According to India’s National Education Policy-2020, wherever possible, the medium of
instruction/teaching until Grade 5 shouldbein .

A. Hindi

B. English

C. Mother tongue

D. Regional Language



8. Inthe year _, the Government of India collected the Census data on languages.
A. 2003
B. 2013
C. 2011
D. 2018

9. Classical Languages are _ .
A. Only Hindi
B. Only Sanskrit and Tamil
C. No Indian language is conferred with classical status
D. Kannada, Odia, Malayalam, Sanskrit, Tamil and Telugu

10. Linguistic Society of India is locatedin .
A. Pune
B. New Delhi
C. Lahore
D. Hyderabad

11. Consider the following statement and choose correct option.
The suffix -er in worker and faller has the same syntactic and semantic function.

A. Only the syntactic function is same.

B. Only the semantic function is same.

C. Both the syntactic and semantic functions are same.
D. The syntactic and semantic functions are different.

12. National Education Policy-2020 of India was constituted under the chairmanship of _ .
A. Smriti Irani
B. K. Kasturirangan
C. Ramesh Pokhriyal
D. T.S.R. Subramanian

13. Pick the odd member out from the following:
A. Prepositions
B. Particles
C. Clitics
D. Nouns

14. In terms of number of languages, _is the largest language family in the world.
A. Indo-European :
B. Niger-Congo
C. Sino-Tibetan
D. Austro-Asiatic



15. The canonical word order in most, if not all, of the Indian languages is
A. Subject, Verb, Object
B. Object, Subject, Verb
C. Subject, Object, Verb
D. Verb, Subject, Object

16. United Nations declared ____as The Year of Indigenous Languages.
- A. 2017
B. 2008
C. 2019
D. 2016

17. Central Institute of Indian Languages is locatedin .
A. New Delhi
B. Bengaluru
C. Mysuru
D. Mumbai

18. After independence, s the first state formed on a linguistic basis in India.
A. Tamil Nadu
B. Andhra Pradesh
C. Jammu and Kashmir
D. Odissa

19.  language family has the Jargest number of speakers.
A. Sino-Tibetan
B. Niger-Congo
C. Indo-European
D. Austronesian

20. From the sentence ‘ Venkatesh saw Geeta with a binocular’, we can infer that
(i) Venkatesh had a binocular with which he saw Geeta.
(i)  Venkatesh saw Geeta and she had a binocular.

Both (i) and (ii) can be inferred
Only (i) can be inferred

Only (ii) can be inferred
Neither can be inferred

g oW >

21.Devanagariisa .
A. Secript
B. Place in India
C. Language
D. Variety of Hindi



22. When we pronounce the sound ‘P’,
A. Upper teeth touch lower teeth
B. Tongue touches soft palate
C. Tongue touches lower teeth
D. Lower lip touches upper lip

23.  refers to the words which have related meanings.
A. Metonymy
B. Meronymy
C. Polysemy
D. Homonymy

24, Consider the following statements:
I. English belongs to Germanic branch.
II. Arabic belongs to Semitic branch.
IT1. Telugu belongs to North Dravidian branch.
I'V. Bhojpuri belongs Munda branch.

Which of the following pairs is/are correct?
A. Tand II
B. I and [II
C. Il and IV
D. Iand IV

25. Consider the following statements:
[. Urdu is an official language in Telangana.

II. English is an official language in Arunachal Pradesh.

II1. Urdu is an official language in Andhra Pradesh.
IV. English is an official language in Haryana

Which of the following is correct?
A. Statement I and III
B. Statement Il and IV
C. Statement I and II
D. Statement [II and IV

26. Consider the following statements.
[. All languages have vowels.
II. All languages have consonants.
IIL. All languages have a Writing system.
IV. All languages have a definite number of sentences.
Which of the following is correct?
A. Statement [ and III
B. Statement I, Il and IV
C. Statement III and IV
D. Statement [ and Il

2z~



27. Consider the following pairs:

I Tulu 1| Sino-Tibetan
I1 Mizo 2| Indo-European
II | Konkani 3 | Dravidian

IV | Savara/Sora 4 | Austro-Asiatic

Which of the pairs given above is/are correctly matched?

I 11 III v
A, 4 1 2 3
B. 4 2 1 3
C. 3 1 2 4
D. 4 3 2 1
28. Consider the following pairs:
I Masculine 1| Number
I Aspect 2| Tense
I | Dual 3| Gender
IV | Nominative 41| Case

Which of the pairs given above is/are correctly matched?
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Analyze the Turkish data below and answer questions from 29-33.

geliyorum ] am coming.
geliyoruz We are coming.
geliyorsun You (SG) are coming.
gelivorsunuz You (PL) are coming.
geliyor He/she coming.
geliyorlar They are coming.

Source: Coates, Richard. Word structure. Routledge, 2002; SG=singular; PL=plural.

29. The Turkish word corresponding to ‘come’ is .
A. geliyor
B. geli
@€ yor
D. geliyo

30. The Turkish form ‘-’ indicates .
A. 1* person singular
B. 2™ person
C. 1% person plural
D. 1° person

31. In Turkish, 3 person singularis .

A. -yor

B. -or

C. r

D. Unmarked

32. The Turkish form ‘-sun’ indicates .
A. 2™ person
B. 2™ person plural

3 C. 1% person
D. 2™ person singular

33. In Turkish, 1% person plural is .

A. -u
B. -uz
C. -z
D. Unmarked



2

Analyze the following Turkish data followed by English translation and answer questions from
34-40.

Turkish English Turkish | English
kilimler 'carpets’ arabalar 'cars'
kilimde 'in the carpet' : deniz 'ocean’
deftere 'to the notebook’ masa 'table’
defterlerde | 'in the notebooks' ev 'house’
adamlara 'to the men' havuc 'carrot’
taraflarda in the sides’ defter ‘notebook’
okula 'to the school' =

Source: Linguistics Society of America.

34. The Turkish word corresponding to ‘in the ocean’ is .
A. denizda and denizde
B. denizda
C. deniza
D. denizde

35. The Turkish word corresponding to ‘o the carrot’ is __.
A. havuce
B. havuca
C. havucde
D. havuc

36. The Turkish word corresponding to ‘fables’ is .
A. masalar
B. masaler
C. masala
D. masalr

37. The Turkish word corresponding to ‘in the notebook’ is
A. defterda
B. defterd
€. deftere
D. defterde

38. The Turkish word corresponding to ‘fo the houses’ is__.
evlera

evlere

evler

evlara

Sows
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39. The Turkish word corresponding to ‘car’is ___.
A. araba
B. arabal
C. arabala
D. Unmarked

40. The Turkish word corresponding to ‘man’ is__.

adam
adem
adamalar
adamal

Sowy
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41.1am out of station at the moment. lam .................... holiday in my hometown.

in

at

on
during

o oW

42, Which of the following sentences is incorrect?
A. I apologized them for all my mistakes.
B. Will they be here at the weekend?
C. My flat is on the fourth floor of the building.
D. I met a friend on my way home,

=
el

_arailway bogie is a fricky job.
A. Detachment

B. Detaching

C. Detach

D. Detached

44. Rani sat down on ......coovnvninnn chair nearest the doorway.
A a
B. an
C. the
D. No article

45, What time is ......ovvvvivinnnnn lunch?
A.a
B.an
C.the
D. No article

46. What does the following sentence mean?
Ram was to go to Australia.
A. Ram went to Australia.
B. Ram planned to go to Australia, but could not do so.
C. Ram is back from Australia.
D. Ram would go to Australia.

47. Which of the following is correct?
A. Sharmista was in abroad for several years before she returned to India.
B. Sharmista has been abroad for several years before she returned to

India.
. Sharmista had been abroad for several years before she returned to

C
India.
D. Sharmista was abroad for several years before she returned back to

India.
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59, Which of the following sets of words rhyme in English?
A. time, chime, mime, rhyme
B. take, mistake, rake, cakes
C. means, genes, screens, cleanse
D. nation, tension, location, scion

60. John couldn’t see the office building as it was shrouded with smoke and dust. The meaning
of the underlined word is
A, dark
B. ruined
C. covered
D. stored

Read the extract of the poem below and answer the questions from 61- 65.
“Lightly, O lightly, we bear her along,
She sways like a flower in the wind of our song
She skims like a bird on the foam of a stream
She floats like a laugh from the lips of a dream”

61. Which of the following attributes do all the similes in the poem point to?
A. Strength
B. Beauty
C. Anger
D. Delicacy

62. In the third line, the word “skims” suggests:
A. Floating on water
B. Diving into water
C. Flying just above water
D. Sitting on water.

63. The person referred to in the poem is NOT being compared to:
A. Waves
B. Flower
C. Bird
D. Laugh

64. “Wind of our song” in the second line points to:
A. The sequence in the song '
B. The lyric in the song
C. The rhythm in the song
D. The verse in the song.

e Dl
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65. The extract of this poem refers to movements. All these movements can be described as:
A. Bouncing
B. Diving
C. Vibration
D. Swinging

Read the following passage and answer the questions from 66-67.
I was told many years ago by my grandmother who raised me: If somebody
puts you on a road and you don't feel comfortable on it and you look ahead
and you don't like the destination and you look behind and you don’t want to
return to that place, step off the road. (Maya Angelou)

66. The passage above is highlighting the importance of:
A. Willingness to work hard.
B. Ability to go back where you started from.
C. Courage to reject if you don’t believe in something
D. Patience to stand and wait

67. Here, the expression “step off the road” means:
A. Find a new road
B. Stop walking
C. Take a break
D. Turn back

68. Choose the odd word:
A. muscle
B. fiscal
C. physical
D. physique

69. The creation of the unit was on additional personnel being sanctioned.
. Which of the following words would be inappropriate in the above blank?

A. dependent

B. predicted

C. predicated

D. contingent

70. Fill in the blank with the appropriate word.
With this presentation, she hit it out of the e
A. park
B. house
C. garden
D. gallery
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71. Fill in the blank with the appropriate expression.
On the one hand, society tells us to choose our path, and , it says that family
values must be maintained and elders not displeased.

however

since

on the other hand

on the other side

oow>

72. Complete the following sentence using the most appropriate clause from the options.
They asked me
A. that how could I do it.
B. that [ should do it.
C. how I could do it.
D. how could I do it.

73. Which is the correctly punctuated sentence?
A. The magician said, “I will pull out a rabbit from my hat”,
B. The magician said, “I will pull out a rabbit, from my hat”.
C. The magician, said, “I will pull out a rabbit from my hat™.
D. The magician said, I, will pull out a rabbit from my hat”.

74. Where do you get to see the following language use?
Stolen ATM broken open, cash missing
A. In an English textbook
B. In a newspaper
C. Inapoem
D. On a university website

75. The following text in the image is an example of a/an

| PREVENT THE SPREAD |
| OF CORONAVIRUS |

A. advertisement

B. cover page of a book
C. poster

D. blurb
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PART-C

76. The Lander of Chandrayan 2 was named after .
A. Vikram A Sarabhai
B. A.P.J. Abdul Kalam
C. Nambi Narayanan
D. K. Kastrutirangan

77. UGC was established by the Act of Parliament in .
A. 1953 '
B. 1947
C. 1956
D. 1950

78. Article of the Indian Constitution facilitates the mother-tongue at the primary stage
of education to children.

351B

350B

351A

350A

o 0wy

79. Chapters in the Raamayana written in Sanskrit are called as
A, parva
B. kaanda
C. yoga
D. bhaaga

80. __ isthe Governor of the Reserve Bank of India.
A, Raghuram Rajan
B. Shaktikanta Das
C. Urjit Patel
D. D Subbarao

81. NITI Aayog was formed in .
A, 2016
B. 2017
C. 2015
D. 2020

82. COVID in COVID-19 stands for .
corona virus desease

corona virus disease

corona virus defect

corona virus identifier

UOwx
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83. Consider the following statements.
1. Himanta Biswa Sarma is the chief minister of Assam
II. H.D.Kumaraswamy is the chief minister of Karnataka
TIL Anandiben Patel is the chief minister of Gujarat
[V, Pushkar Singh Dhami is the chief minister of Uttarakhand

Which of the following is correct?
A. Statement II and III
B. Statement I and Il
C. Statement Iand IV
D. Statement Il and IV

84. Consider the following pairs:

1 Covaxin 1| Gamaleya

11 Covishield 2| Bharat Biotech

II | Sputnik 3| AstraZeneca/Oxford
IV | 2DG 4| DRDO

Which of the pairs given above is/are correctly matched?
I 11 11 1\Y

A, 2 3 1 4
B. 2 1 3 4
8 4 3 1 2
D. 4 3 2 1

85. The Charminar was built by
A. Mohammad Quli Qutub Shah
B. Abdullah Qutub shah
C. Tbrahim Qutub Shah
D. Abul Hasan Tana Shah

86. What is the original name of Dileep Kumar?
A. Mohd Yahya Khan
B. Mohd Ismail Khan
C. Mohammad Yusuf Khan
D Mohd Jameel Khan

87. Shahjanabad is the erstwhile name of
A. Hyderabad
B. Mumbai
C. Ahmadabad
D. Old Delhi

““3@""
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88. Jallianwala Bagh is located in

A. Punjab

B. Haryana

C. Uttar Pradesh
D. Rajasthan

89. Which is the longest river on the earth?
A. The Nile
B. The Ganga
C. The Amazon
D. The Barhamputra

90. When is the World Population Day observed?
A. June 7
B. July 7
C.July 11
D. July 28

91. Which is the oldest National Park in India?
A. Jim Corbett National Park
B. Kanha National Park
C. Ranthambore National Park
D. Sundarbans National Park

92. Who is the author of ‘Communist Manifesto’?
A. Saint Siman
B. Louis Blanc
C. Karl Marx
D. Robert Owen

93. The song ‘Vande Mataram’ was composed by
A. Tagore
B. Bankimchandra Chatterji
C. Mohmmad Igbal
D. Nehru

94, Tn MRI Scan, MRI means:
A. Mental Record instrument
B. Memory Record instrument
C. Magnetic Resonance Imaging
D. Magnetic Recording Instrument



95, The full form of PSLV:
A. Puller Satellite Launch Vehicle
B. Puller Sacket Rolly Vehicle
C. Polar Satellite Lorry Vehicle
D. Polar Satellite Launch Vehicle

96. In FM Radio, FM means:
A. Field Marshal
B. Free on Modulation
C. Frequency Modulation
D. Frequent Modulation

2~y

97. The present Secretary-General of UNO Mr. Anténio Guterres belongs to country.

A. Portugal

B. South Korea
C. North Korea
D. Ghana

98. Who is the present Chief Justice of India?
A. Ranjan Gogoi
B. Sharad Arvind Bobde
C. Nuthalapati Venkata Ramana
D. Dipak Misra

99, The Nobel Prize in Literature 2020 was awarded to
A. Peter Handke
B. Louise Gliick
C. Olga Tokarczuk
D. Kazuo Ishiguro

100. Which of the following is a virtual meeting platform?
A. Email
B. Arogyasetu
C. Twitter
D. Zoom



School / Department / Centre
Course [ Subject

Question

| number

Right 7|
answer |

Lo x8l KU, B (RSN EVER [ Y

r
i
oo ul

Lo

‘iolwmioio|o|elolw|olr|olojo|r|oloir|elo

e lololis

i

|
|

gigjiz|rlaololn

|

»oo|ele glo|>]

i
1]
[

Note / Remarks :

UNIVERSITY OF HYDERABAD

ENTRANCE EXAMINATIONS — 2021

L IMA HUMANITIES KEY (Hindi, Language Sciences, BEEE8 and Urdu)

|40 Ta | [ 81 Jc
N T e 3
2. A [ 83. e
43, B 84, A
L2t e 8s. A
45. |pD 86. e
6. | B | 87. |D
7. _|c | I 88  |A !
a8, B | 8. [a |
49, D l__ 50 C |
50. A 91, A
51. B 93, C
52, 1A a3, B
3. |€ 94, C
54. ' B g5, | D
85; C | 96, | C !
56. A 97. A |
57. g | 98 5 :
s ¢ T
59, Ta 10 [D
60. C )
[ 6L D
62 C
63. | A
64 |c |
65. D i’
66. C
67 A
68 s
69. B
| 70, A
j 2l ¢
L. 7 &
|77, A |
' 74. B *
7 e
T 7s. A
77. C
78. D
/3. 8 o
| 80. B 2 l Qb_"\}/\)
[\
Signature M-K \ el Y2
e School/ Department / Centre
e gjﬂ:fffj@%‘ﬁuém
r.ahegdor integrd -
o A Uimboarstty of H‘r’dembﬁ



University of Hyderabad
Entrance Examinations - 2021

School/Department/Centre : CENTRE FOR INTEGRATED STUDIES

Course/Subject : LVLA (HUMANITIES - TELUGU) -
QUESTION | ANSWER | QUESTION | ANSWER | QUESTION | ANSWER | QUESTION | ANSWER
1 B 26 B 5l B 76 A
2 C 27 C 52 A 77 C
3 B 28 C 53 < 78 D
4 C 29 T 54 B 79 B
5 B 30 B 55 C 80 B
6 D 21 D 56 A 81 C
7 & 32 A 57 C 82 B
8 C 33 C 58 | C 83 c
9 ¢ 34 A 59 | A 84 A
10 C 35 A 60 | € 85 A
ik A 36 C 61 D 86 C
12 B 37 C 62 € 87 D
13 A 33 A 63 A 83 A
14 B 39 B 64 C 89 A
15 D 40 B 65 D S0 C
16 B 41 C 66 C 91 A
17 D 42 A 67 A 92 C
18 A 43 B 68 B 93 1 B
19 A 44 o 69 B 94 | ¢
20 B 45 D 70 A 95 D
21 D 46 B 71 c 96 c |
22 D 47 C 72 C 37 A |
23 C a3 | B 73 A 98 C
24 B 49 | D 74 B 99 B
25 A 50 | A 75 € 100 D
S
BV SHARMA,

DIRECTOR, COLLEGE FOR
INTEGRATED STUDIES



